358F

AJOvY) 2 ez | |k | Bk
1% ,”*ﬁ %’f(aﬁﬁxﬁmaaj‘) @ 2/2 1
B A TE A o —
zliuq],;z%(miaj;) 0/2 3
5 T X E N 55T
3 m En'semem @ 1/2 2
BoOvY 2 Bz | Bk | IE
B H = 6-5
2 - ﬁﬁ(LIberty) 2 1/2| 2
= B B F ,Palaistra 7-6
BB x(aﬁaxzfq:oag‘) 172 ;| 1
= ©m @ 2 M5 5-7
wa cze 51855 7) @ 172 7, | 3
coovy 2 4 || = | m% | B
B m B EKETIS)
1§E:ET x 6 B8 @ @ @ | 3/3 1
7C - = = — 3
2 )i s qgsz”ﬂi;]jj) 1 )13 3
B W B L TE5T
35# Kﬂ\(LIberty ) 2 2 (0/3 4
E 0 7 5 BRIBTEN
4 g —mpnrrsy) 2/3 2
REEU—2 2 Bz | =2k | AR
B B % e o
1 |l E\(EEKQEP’]??) @ 1/2 2
= % B Fl Palaistra
2l 5 & x HokmmysT) 0/2 3
1 | 1 KBTS
Bl s ' airmam) @ 2/2 1




4535 F

1 | 2 B | 2k | I
—T7 =& BRI
Ve = % 2 GmEmsss) @ | 1]2/2 2
g BT B B W ompmysT)| 3 o |o/2
x 5 g (NEEETTI) / 3
® & = o, AOEHIST
3l 1 =& # (nzmasrsy)| @ | @ 2/2 1
=T BF50
1iEH 2E0E 3[EH
% xX W E B ST
1 %1? ] ’[;ﬁ,(ﬁ&%&m%m—ﬂ;wj‘) @ 2 1
L ® =& EB 750
2 lmase memeEmssy) 2 | @ | @
TP BF55
1 | 2] 3] a5 [m=]ex]mE:
1 UL EEED @|@ | @ | 0|34 2
2%%@?(5&*?957‘)3 o| 1| 2 [o/a 5
5 = O 9 ARERIST 5%
3l x mm (Gugmsysy)| 1 | @ @ | @|3/4| 7| 3
N R ARERIST
415 m @l % sigmmssy) 0| @ | 1 0 |1/4 4
= B B — BET&RI5T =
=7 EBF60
1 [ 2] 3] 4 [m=|mx]m:
BT BB . EE ST
e m & ﬁ(ﬁﬁikﬁtlﬂ’]‘;‘) @ | @ | @ |3/3 1
Am =B 8B5S
2l @ Ewmrss7)| 1 1|3 |93 4
3 ’q”__; EL E; Z‘g(ﬁﬁikﬁtlﬂﬁij) 1 @ 3 || 1/3 3
42 Bl (xmExs37) 0 | @ | @ 2/3 2




=T B F65

AJAOwvSH 1 B | 3% | B
7 = B 5 S
e m waswmssT) 2/2 1
2 éﬂ; lf_t“gﬂ(mia 7) 0/2 3
3|ag Al (prEr5T) 1/2 2
B7OwvYS | B | 9% | B
1 %“%;% ;Drﬁ(ﬁu w5 7) 2/2 1
g Bz BEIST
2 ;fu B — Gtk 22557 ) 1/2 2
3 mE BT REssT) 0/2 3
y-?%%G&“ﬂ#ﬁi
" = & 75T
Al @ EE(E¥%EH]’777)
B”-L/E‘;.% #0 .m(FJIJ *égjj)
3GLR TE B
-l-7—}<# gA '/T".l' ?._.E x —_ 3
Mgy - G (FBI957)
B K2 BEUS T
eoit s B C (Bl )
ZTFBF70
mex | mx | IE
5E B2 W ED S
" x = m(aﬁyxgq:a—g) 2/2 1
& & — @i D>
2 iy x = = (493*%111%'75;) 0/2 3
A H f W =55 T
3 i e HelnsmssT) 1/2 2
YT BF75
BE | B | IRk
I s = - WEJsSD
| | = ﬁuﬂ;a%aag” 0/2 3
X B B = SBRTER05T
2 li5 5 #IE(E¥,%!%EII’753‘) 2/2 1
W B x BBETERI5T
Sle wx wmlz=mos7) 1/2 2




45K F

| 1 2 3 | 4 | m=| k| Em
1%"7;%%%?%(Palaistra) @ @ @ | 3/3 1
ST + - o 4-6
zﬂggl—g—?(mlﬁlgjj)o 0 @1/3 - 4
h W EEE 5T ="
Slme nmy (Hmwmp55) 1| @ 2 |1/3| 5 | 2
s tmass 1| 2@ 13 %% | 3
TP XF55
| 1 2 | 3 [ m=|m%]| Em
1| 2 E?(ﬁ'ﬁ o35 7)) 3| @ 12|77 2
2%%%?(,:.53057)@ 0 |1/2|*]| 3
3 I{X\fg VI (pmuzs-s2y) 2 | @ 12| 4| 1
T EZF60
| 1 2 3 | ms= | Bk | e
37 I
14*;?2 'ﬁi(%ﬁmoaj‘) @ | 2 [1/2 2
T
3w =7 Ewmnss7y) @ | @ 2/2 1
TR F70
| 1 2 | 3 | 4 [ ms=|5x]|mE:
LG ES :<E| =
EE HeF & W T 5 J
2 |y ﬁ(%uﬁqﬂ%ai;‘) 1 1 ]9/3 4
K% oRF, = @ 7 5 J
Sl mulamoss 1)@ | @ @ |3/3 1
4 _g_g;fti(aﬁﬁxﬁqwaj) 2 | @ | 2 1/3 3
T EZF50 B8 268 3E8
i K kK &, FRBIERY-F)
= ﬁj‘ﬁ?(jtﬁariﬁbﬂ @ | @] @
2 B0 2L (xmmmos7) 0| 1|1
V=T XF65 1E8 268 3E8
*% m ::E ﬁ}*nm‘_[ﬂﬂik’Jjj ) 0 1 0
- e Al
RH BAT % Il 7 5
2 [ g ﬁ&¥($ﬁ$’757‘)@ @@
VZTXFT5 B8 268 3E8
1:5\;5 E%/I('ﬁ}*nm—lgjj) 3 1
ik CA NN
2 §§“|°§§(%mﬁtpyeojj) @ | @




